Total number of printed pages—4
3 (Sem-2/CBCS) BOT HG/RC
2024

{
(\; ¢ W/ BOTANY
(Honours Generic/Regular)

Paper : BOT-HG-2016/BOT-RC-2016
(Plant Ecology and Taxonomy)
Full Marks : 60
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Write very short answer/Fill in the blanks:

. 1x7=7

53 Teq. fAan/ Qe oiF 074 7t ¢
(a) Give; an example of free-floating

hydrophytes.

SR (Y @RIfR) TreTer Bfeva bt S |
(b) In an ecosystem, flow of energy is

always _.

ARfafeas = ekizg afS T !

Contd.



() What is herbarium ?
A e
(d) Define Palynoiogy.
- &Reing wiget )
(e) What is hierachy ?
R Be
() The energy pyramid is always __

A& PRifte s |
(g9 What do you mean by species ?

awifs e & g@e
Answer the following : 2x4=8
woe TR Bes i ¢
(a) What do you mean by water holding
capacity ?
AR 4y T e [ @ e
(b) Write a short note on Ecotone.
35 Ra @bt 5 G forin
(c) What is food chain ? Write the name of
types of food chain.
QY X2 e Ay 2RI ABPPTRI O o |
(d) Write about binomial system of
nomenclature.

=it A st Ram ot
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3.

Answer any three of the following :
5x3=15

were TArPTRS A fofaore e faa ¢

(a) Describe the adaptations of hydrophytic
plants.

weTe BfEwe SfSTemeRR ! 4 |

(b) What is Ecological Pyramid ? Describe
different types of Ecological Pyramid.
st PRI [ RS aviss el
Prifies R 3 0|

(c) Distinguish between Cladograms and
Phenograms.

| GO W AN sl B

(d) Discuss the functions of Herbarium.
ZREREAR e R el 31

(e) Write a note on Natural system of
classification.
oo e AREIER R @Bt (o
ferdt) .

Write briefly the influence of climatic factors

on the growth and development of plant.
10

PRI R o ol
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Or

Describe the Y shaped energy flow model in
an ecosystem. '

AREIoTS Y PR & o[z sree 3t 31 |

S. What is biogeochemical cycle ? Describe
either ‘carbon’ or ‘nitrogen’ cycle with
schematic diagram. 2+8=10

TSI b 52 FRT A FIRCTICSH oot
e Haw 36 =1 |

Or
Describe the process of succession.

e smed R 3 =1

6. What are the principles of Engler and
Prantl’s system of classification ? Write on
the merits and demerits of this system.

» - 5+5=10

Engler % Prantl-9 (TRerem owfeg AR

& &2 a%%f‘mmwmﬁmﬁ;n
Or

What do you mean by botanical garden ?
Write the importance of botanical garden.
Write the name of five major botanical
gardens in India. 2+6+2=10

Bfew T e & 3ot ¢ Ofem SR e R
o1l | o 5 <9 T ©few Smpime A
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